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e Answer all the questions.
s In each of the questions 1 to 4, pick one of the alternatives 1,2,3,4 which you consider is correct or
most appropriate.
1) What is the descending order of elements that has been most helpful in creating living organisms?
(i O,HN (i) C,O,H (i) O,C, H (ivy CON
2) The figure shows a velocity time graph of an object projected upwards at a velocity of 30ms™. The maximum
height reached by the object is?
(i) 22.5m (ii) 45m (iii) 67.5m (iv) 90m
3) If the formula of magnesium nitrate is Mg(NOs3),, what is the formula of sodium RS
nitrate? o
(i) Naz(NOs), (ii) NaNO; (iii) Na(NOs), (iv) NaNO;
4) A deficiency of which of the following element in the body caused anemia, 4
sleepiness and weaknesses in mental development?
(i) Iron (ii) Phosphorus (iii) Calcium  (iv)lodine "
5) The standard unit of measurement for Force is, 0l T Y
(i) Nm? (i) ms? (iii) kgms? (iv) kgms? s
6) Select the pair of elements that has the highest tendency to form positive ions.
() Naand Mg (i) ClandO (iii) Oand Na (iv) NaandCl
7) The correct name given to the coconut plant according to the rules of binomial nomenclature is?
(i)  Cocos Nucifera (iii)  coco nucifera
(i)  Cocos nucifera (iv) cocos nucifera
8) When a sound wave emitted from a loudspeaker propagates through the air, what happens to its physical
quantities?
(i) Reduce frequency (iii) Reduce wave length
(ii)  Reduce the velocity (iv) Reduce the amplitude
9) Select the incorrect statement of the followings. (relative atomic mass of Mg is 24)
(i)  There are 6.022x10%? atoms in 24g of Mg
(i) There are 0.5mols in 12g of Mg
(iii) There are 6.022x 10 moles in 24g of Mg
(iv) There are 12.044x10%2atoms in 48g of Mg
10) The figure shows a set up designed to identify a factor required for i
photosynthesis. What could be the solution X? bsg — .

—
water

(i)  NaxCOs (i) Nacl (i) KOH  (iv) KNOs X -solition 22,
\
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11)

12)

13)

14)

15)

16)

17)

18)

19)

Which of the following does not affect the limited frictional force?

(i) Area of contact surface
(ii) Perpendicular reaction
(iii)  The nature of contact surface
(iv)  Weight of the object
What is the bond type represented in the following figure?
(i) lonic bonds
(ii) Covalent bonds
(iii)  Donor bonds
(iv)  Inter molecular bonds
In which of the following cells contain multinucleous.

X
[\ /

P

§H6’

O
g

Skeletal muscle cells

Smooth muscle cells

(iv)

(i) Red blood cells (iii)
(ii) White blood cells (iv)
Which letter indicates the wave length of the wave given in the graph?
(i) P (i) Q (iii) R
Which mixture is considered as homogeneous mixture? y

S

(i) Clay solution/ mixture
(ii) Salt solution B

8
|
‘O\\Hé

3
+

(iii) Laundry blue solution/ mixture
(iv) Soap solution

Common inherited characteristics in the human spices
(i) Muscle growth in the arms
(ii) Syndactyly
(iii)  Polydactyly
(iv)  The ability to fold tongue or not
Tension of the spring balance is,
(i) 220N (ii) 320N (iii) 440N (iv) 800N

Some of the energy produced by cellular respiration is released as

BV

'

heat while rest is stored as chemical energy in the form of ATP. What is not a function of ATP?

(i) Producing energy
(ii) Store energy
(iii) Act as a energy transporting agent

(iv) Releasing energy

What factor does not affect the rate of reaction between two reactants in aqguous medium?

(i) Temperature

(ii) Catalyst

(iii) Pressure

(iv) Concentration of reactants




20)

21)

22)

23)

24)

25)

26)

Underline the correct ray diagram.

When 100cm? of a very dilute solution of NaOH were mixed with 100cm? of a very dilute HCl, the temperature of
the mixture rose from 20°C to 35°C. Calculate the heat change occurred during the reaction. (specific heat capacity

of water 4200Jkg?)
(i) 2100) (iii)  8400J
(i)  4200j (iv) 16800J
Select the answers that correctly describe the characteristics of the tissues given below.
Smooth muscle Skeletal muscle Cardiac muscle
(i) Unbranched Branched Branched
(i) Intercalated discs are Intercalated discs are present Intercalated discs are present
absent
. Multinucleate Multinucleate
(i) Uninucleate
(iv) involuntary voluntary involuntary

What is the kinetic energy of an object with a mass of 500g when it moves at a velocity of 6ms™1?
(i) 3 (i) 6J (i) 9l (iv) 21)

Select the answer given in ascending order of the ability to release OH in the aquous medium.
(i) H.S0, < CH3COOH < Ca(0OH), < NaOH
(ii) NaOH <Ca(OH), < CH3COOH < H,S0,4
(iii)  CHsCOOH < H,S04 <Ca(OH), < NaOH
(iv)  Ca(OH)2 < NaOH < H;S04< CH:COOH
When you get a thorn stuck in your foot, your foot will full away. What is the correct order in which the nerve
impulse travel?
(i) Effeccor ———» Motor neuron ——» sensory heuron ——» receptor
(ii) receptor — — » sensoryneuron —  » intersneuron — » Motor neuron———»Effector
(iii) Effector ——» sensory neuron —— pinters neuron ——» Motor neuron
— receptor
(iv) receptor —  Motor neuron —— inters neuron —— sensory neuron
— FEffector
When you convert a temperature of 373k to Celsius scale is,
(i) 0°C (i) 100°C (iii) 273°C (iv) 373°C



27)

28)

29)

30)

31)

32)

33)

34)

The mass of glucose that should be taken to prepare 500cm? of 1moldm™ Cs H1, Og

. 1000 . 180 0.1
(i) X 500 (iv) — X—

180x0.1 1000 500
() 1000xX180
L 500x0.1

180x0.1
(iii) x 500

1000

Which statement is correct in relation to human ovule?
(i) It is produced in the follicle cells in the ovary.
(ii) It consist of 23 pair of chromosomes.
(iii)  Fertilization of ovule takes place in the uterus.
(iv) Implantation of ovule takes place at the upper region of the fallopian tube.

SQOg

A weight of 55N was placed on the spring balance shown in the figure. When a
student hung a 500g iron ball what would be the new reading of the spring balance.
(i) 50N (i) 55.5N (iii) 60N (iv) 555N

What is the method of artificial propagation that can obtain a genetically identical group of clones from a
plant?

(i)  Tissue culture

(ii) Budding

(iii) Layer method

(iv) Induce rooting from stem cuttings
What is the appropriate method to collect the gas produced during the reaction &-‘é_.-m
occurs in the given figure. |

(i) Upward displacement of air

(ii) Downward displacement of air

(iii) Downward displacement of water

(iv) Downward displacement of either water or air

If a student takes 3 seconds to lift a bucket of water weighing 4kg to a height of 3m : _,;_.’.;25:..-

L) had

using a single lever. what s his rate of
(i) oSt (ii) 10Jst (iii) 20Js™ (iv) 40Js?

What is the disease transmitted by sex-linked genes?
(1) Hemophilia (ii) Diabetes (iii)  Albinism (iv) Anemea

Which one is not a solvent?
(i) Water (iii) Mercery
(ii)  Ethanol (iv) Carbon disulphide

Zn



35) which factor affect the frequency of the sound produced by string instruments?
(i) Length of string
(ii) Tension of string
(iii) Cross section area of strings
(iv) All of the above

36) The outwardly visible characteristic of an organism is known as

(i) Homogenic characteristic
(ii)  Phenotype

(iii) Genotype

(iv) Double ladybird cross

37) Select the non-polar solvents
(i) Carbon tetrachloride (ii) Water (iii) Methanol (iv)
Ethanol

38) The figure shows an object in equilibrium under 3 forces. which of the following is a false
statement?
(i) Three forces are on the same plane
(ii) The sum of Py and P, is equal to P; force
(iii) Lines of action of the three forces meet at a common point
(iv) The resultant of P; & P; is equal to the magnitude of P;
39) Select the hormone that converts glycogen into glucose in the human body and the hormone 3
that lower the level of calcium in blood respectively
(i) Insulin, Glucagon
(ii) Glucagon, thyroxin
(iii) Glucagon, calcitonin
(iv) Insulin, calcitonin
40) According to the reports of the National Dengue control unit, the number of dengue patients across the
island on June 19" exceeded 26000. with 45 percent of the patients in the western province and fourteen
dengue deaths reported, what is the most appropriate statement for the given statement.
(i) Dengue control activities carried out by the ministry of health have no impact on spreading the
disease
(ii) Dengue disease has a uniform spread throughout the year
(iii) Not taking medicine given for dengue by people is caused for rapid spread.
(iv) The spread of disease increases during rainy season
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e Answer the four questions in part A, in the space provided.
e Of the five questions in part B answer three questions only.

e After answering, tie part A and the answer script of part B together and handover.

Part A -Structured Essay
1)
A) The following figure presents a summary chart prepared
using mixtures.
i Name A and B (2 Mark)

il. Which one can be considered as a solution from
above Aand B (1 Mark)

[4]

3 .
gdm <—|E| m 7 Nounit
(as a mass fraction)
Compositiol
of a mixture,
n
R % —> No unit
(&) (as a volume fraction)
!'I/w

iii. What is the name of the method used to find the
composition of a mixture in E? (1 Mark)

{amount of moles
and rafo of volume )

iv. Present the method D using relevant symbols, like other methods shown in the figure (Mark1)

v.  What is the international unit of measuring the amount of substance? (1 Mark)

vi.  What unit is commonly used in the method of expressing composition denoted by ‘C’
(1 Mark)
vii.  What is the mass of glucose required to prepare 100cm? of a 1moldm™ glucose solution?
(C-12, H-1, O-16) (2 Mark)

B) Glucose is one component of a bio molecule
i.  What type of bio molecule does glucose belong to (1 Mark)
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ii. In an activity by a group of students to study the action of enzymes on starch, the relevant enzyme
was added to the starch solution and every two minutes, a drop of it was placed on a white
ceramic tile and iodine solution was added drop by drop.

a) What enzyme can be added here? (1 Mark)

b) What color was obtained when iodine was added to the solution at the beginning of the

activity? (1 Mark)
c)
l. what was observed when iodine was added to a drop of mixture at the end of the
activity? (1 Mark)
I What conclusion can be drawn from it (2 Mark)
(15 marks)

2) A

i.  Observe the diagrams carefully and separate them as plant cells/tissues and animal cells/tissues.
Use the given letter. (3 Mark)

ii.  Which letter shows complex permanent tissues in plant tissues. (1 Mark)
iii.  Which animal tissue is responsible for absorption / perception of stimuli / secretary and filtration

function? (1 Mark)

iv.  Which unit or cell is responsible for the ‘reflex arc’ in human body? (1 Mark)

v.  The function of which tissue contributes to the circulation of nutrients and oxygen throughout the
body? (1 Mark)
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Vi.

Write two characteristics that can be identified, a matter as a living being? (2 Mark)

The following figure shows an activity that can be conducted to demonstrate germinating seeds do

respiration.
4—ruhbcrsubc ;

[€——glass tube %

g\ | Coloured

= r s water

Coloured
waler
geminating sceds germinaling seeds
A apparatus B apparatus

What is x? (1 Mark)
What is the purpose of adding x?
v (1 Mark)
What observations are made if the activity is done correctly? (2 Mark)
What is the conclusion that can be drawn accordingly? (1 Mark)
State one assumption that made during the activity (1 Mark)

3) A) Here are few elements that are located in the third period of periodic table consecutively.

Al Si | ... cl Ar
(a) (b) (c) (d)

Write down the relevant elements suitable for a, b, c, and d. (2 Mark)
Write down in standard form of Cl if it has 17 protons and 18 neutrons. (1 Mark)
What is the valency of Al? (1 Mark)

Construct chemical formula of the compound formed between Cl and the element that matches
'h'? (1 Mark)

Name the two elements in solid state which produce strong basic and acidic oxides respectively
(1 Mark)
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B) Sodium hydroxide, calcium hydroxide, sulphuric acid, acetic acid and glucose are given. Answer the
following questions based on the given substances.
i. Explain what is an acid? (1 Mark)

ii.  Selecta strong acid from the given list? (1 Mark)
iii.  Which chemical compound is used to identify CO, gas? (1 Mark)
iv.  Which solution is in the pH range 5-6? (1 Mark)
v.  Write a common name for each of the following compounds . (3 Mark)

a)  Sodium hydroXide ... e s s s

b)  Calcium hydroXide ... e e

€) Hydrogen sulphate.... s

vi.  Select two suitable compounds from above list for acid-base neutralization and write the balanced
chemical equation for the relevant reaction. (2 Mark)

4) A) The displacement-time graph for a bicycle travelling on a straight road is shown here.
Displacement/ km

T 1 T t
5 1015 20 25 30

; Time [ Minutes

i Describe the motion of the bicycle? (1 Mark)

ii.  What was the displacement during the first 15 minutes? (1 Mark)
iii.  What is the rate of change of displacement in kilometers per hour during that 15-minute period?
(1 Mark)

iv.  Give one word for rate of change of displacement (1 Mark)

v.  What is the total displacement of the cyclist after 30 minutes? (1 Mark)
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C) Some geometric optics are given below.

() TITTTTTITTRTTITT

i Identify and write the names? (2 Mark)
Cisssissmnssssnnisiiiimiis D
ii. In which device / devices give always a virtual image.? (2 Mark)
iii. In which device /devices can converge a parallel beam of light? (2 Mark)
iv.  The ray diagram below shows an object placed in front of a concave mirror with a focal length of
10cm. Complete the ray diagram and write two characteristics of the image formed. (3 Mark)

v

mn
-
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Science Il - grade 11

Part B — Essay

5) A) Reproduction of organisms is very important for the continuity of life.
Name the two main methods of reproduction found in plants. (2 Mark)

i
ii.

iii.

Write one advantage of each method you mentioned
above (2 Mark)
The figure shows of an outline of a flower as the
reproductive part of the plant.

a) NameABCDEandF (3 Mark)

b) Write the function of A and F (2 Mark)

c) Which of the above parts can ultimately become a

fruit? (1 Mark)

B) The activity shown below is related to Photosynthesis.

i
ii.

iii.

iii.

B)

iii.

Vi.

Page 6 of 10

For what purpose was this set up created? (2 Mark)
Write two observations that are made when the structure is exposed to
sunlight? (2 Mark)
What gas is collected inside the boiling tube? (2 Mark)

Express the process of photosynthesis with a balanced chemical equation

(2 Mark)

A student says that the survival of the living world depends on the above
process. write two reasons why you agree with that statement. (2 Mark)

What type of bond in between the atoms of the above two

molecules. (1 Mark)
How many electrons present in the valency shell of the Al
atom? (1 Mark)

What difference do you see between the central atoms of X
and Y compounds in terms of the type of bond formed?

(2 Mark)
What is the name of the given structure? (1 Mark)
How many other carbon atoms is bonded to each carbon
atom? (1 Mark)
Which specialty obtained due to the above formation of
atoms.? (1 Mark)
Write a use of this structure (1 Mark)

There is a situation where the number of carbon atoms
changes and creates a different structure than the previous
one. what is it? - ( 1 Mark)
What is the specialty of it? (1 Mark)

:Clz

/
:Cle

Al

\
:(.:.I:

water ———4—» J

[]
aquatic __| i \
plant
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Q)
.

Vi.

7) A) The figure shows a circuit diagram of a test to find out the value of

resistor A.
i. Name Xand Y respectively? (3 Mark) {,r'-;;]rl 1)
bodida
ii. Name the device Y and write the importance of it? (2 Mark)

B)

iii.

This Set up is used to a separate the components of a mixture

What is the separation method used in this set up? A P
\“4—— Thermometer

(1 Mark) :]f
i
What is the difference between the components of such a i p
mixture? (2 Mark) L ’ R
State one occasion where this method is used? (2 Mark) >
In the above figure, g o
a) Name the apparatus R? (1 Mark) f

b) Write down the exact places where water in and water
out using the given letters respectively? (2 Mark)
What is the method of separating components that can be
used to detect active chemical compounds in plants? (2 Mark)
Write down the compounds that precipitate in the three tanks used in the extraction of salt from
sea water respectively? (2 Mark)

State weather direction of the current pass through the resistor R

6V S
eitherAtoBorBto A? (1 Mark)
HHHHHC2 )~ s

Below is that a diagram of one of two activities that a group of students presented to verify one of
Newton's laws.

As shown in the figure, the activity was conducted by applying force by using one, two, three

rubber bands respectively, keeping the distance of the rubber band pulled at constant.

a) Whatisthe observation? (1 Mark)

b) What conclusion can be drawn accordingly? (1 Mark)

c) Write the expression that can be drawn according to the conclusion? (Consider applied force -
F, acceleration -a and the mass of the trolley is m.) (1 Mark)

Answer the following questions related to the other activity that the student group might have
carried out by taking three trolleys.

a) What are the two main quantities considered to prove the law? (2 Mark)
b) Write an appropriate expression for the relationship between those two quantities? (1 Mark)
c¢) What isthe constant factor here? (1 Mark)
What is the Newton's Law that was confirmed using the above two activities (1 Mark)

If the mass of the trolley is 500g and the force exerted is 1N, Calculate the acceleration of the
trolley. (2 Mark)
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C) The figure is an energy diagram showing the heat change associated with a certain chemical
reaction. 1
i Is the reaction being exothermic or endothermic (2 Mark)

ii.  Below are two reactions that have been proposed as being Products

relevant to this energy diagram.
1) Mg react with dilute HCI
2) Decomposition of lime Reactants

a) Which reaction is related to the energy diagram? (Mark 4)

b) Write down balance chemical equation for the above
reaction. (2 Mark)

8) A)
i.  The figure shows a schematic diagram related to the electron
microscopic structure of a living cell.

a) Isitaplant cell or animal cell? (1 Mark)
b) State the reason for your answer
(1 Mark)
i.  Write down two structures that are present in a “typical cell” but
not in this figure. (3 Mark)
ii.  Whatis cell growth? (1 Mark)

iii. Name two cell divisions? (2 Mark)

B) The figure shows a schematic diagram showing the internal structure of the human heart.

i, Name A, B,C, D (2 Mark)
ii.  What is the man difference in the composition of the blood in B compared to the composition of
the blood flowing through A? (1 Mark)
iii. How does the intrinsic ‘Lub’ sound created in the heart? (1 Mark)

iv.  "Double circulation" occurs in the human heart Explain it briefly? (1 Mark)

Page 8 of 10 Gampaha Education Zone- Second Term Evaluation - 2025



C) At present, the use of electromagnetic waves is very high.

What are electromagnetic waves? (1 Mark)
Mention two characteristics of electromagnetic waves? (2 Mark)
Write the ascending order of frequency of the waves belonging to the electromagnetic spectrum?
(2 Mark)

A certain type of radiation with frequency below the red color of the visible light range is also
emitted by heated objects. They are also called heat rays.

a) What is that type of rays? (1 Mark)
b) Write 2 uses of them (2 Mark)

9) A) Part of the activity series is given below.

vi.

B)

Name two criteria that are used in the preparation of the activity series (2 Mark) K
State one importance of the activity series in day today life. (1 Mark) Na
Write an observation that can be seen when Mg strip is added to a copper sulphate ::8
Solution (1 Mark) Al
Write down the balance chemical equation for the above reaction? (2 Mark) Zn
To which type of chemical reaction it is belonged? (1 Mark) Fe
What is the name of the method used to separate metals from compounds which are Pb
in the top of the activity series (1 Mark) :tg

X Y Z
What is pressure? (2 Mark)
State the observations and conclusions of the given activities? (3 Mark)
Observation Conclusion
X
Y
Z

The pressure exerted on the ground by a wooden box with an area of 4m?is 300 pa. Calculate the
force exerted on the ground by the box? (2 Mark) &
The figure shows a situation where a hydrometer is immersed in a certain
liquid and is in equilibrium.

JANIRLIANUNNRiInnty

¢ hydrometer

a) What principle is used in the hydrometer? (1 Mark)

b) Write an expression for the force acting on the hydrometer when it is
immersed vertically? (1 Mark)

c) What can be said about the sinking level of the hydrometer, if it is =
immersed in a liquid with high density? (1 Mark) -

d) Write down the law that was mentioned iniv (a)? (2 Mark)

liquid

e L
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